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Which country had the most beekeepers in 2016?




EU produces 250 tons of honey in a year.
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Which kind of pollination makes pollen grains reach the stigma in the best rate?
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It is possible to use bees to make fake honey.

XY 4 T ’

Vgl - N

R

Remove L.

fo) k= i




Where does the honey come from which can be used for honey counterfeiting?




Honey is the only beekeeping product.
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"If bees ever disappeared from Earth, humanity would have only 4 years left." -
Who said this sentence?

A Stephen Hawking

. Isaac Newton




The virus infection of bees is cureable.
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Why did the number of beekeepers rise?

A because of the number of trees

‘ because of the rising number of bees O - because of the EU's support



Why is the high density of bees a problem?

A they infect each other easily @ ’ they produce too much honey

. ‘they can't do the pollination properly O - they can cause damage in the nature



Which plant is not a pollinator from the following ones?

A cherry tree

@ . apple tree



It is beneficial to kill the other bugs surrounding the bees.
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What do you replace the beehive with? (2 answers)

A test tubes

O - holes in a tree trunk



Which insecticide had became banned to protect bees and human beings?

O ’ azadirachtin
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It is legal for the baking industry to use industrial honey. (fake honey)
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In which stage of individual development do bees need the most pollen?

A in egg stage O ’ in a larva stage

. in adult stage O . in pupa stage



EU had the Conference for Better Bee Health.
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What are bees' hygiene activities? (2 answers)
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A distancing the ones with the iliness @ ‘ removing the broods which are infected

. bathing in water O . killing the infected bees



Bees are bioindicator species.
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.. of flowering plants require animal pollination.




